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Q330  Navigation Problems - Chart 13205TR 
U.S.C.G. Merchant Marine Exam 
Mate Less than 500-1600 Gross Registered Tons 
Illustrations:  0 

Choose the best answer to the following Multiple Chouice questions. 

1. The following questions are based on Chart 13205TR, Block Island Sound, and the supporting 
publications. 
 
Your vessel has a draft of 11 feet (3.4 meters).   
Your height of eye is 32 feet (9.7 meters).   
The gyro error is 2°W.   
Use 15°W variation where required.    
 
   
  DEVIATION TABLE 
 
Magnetic 
Heading         Deviation 
                                           
000°        0°      
030°        1°W     
060°        2°W     
090°        4°W     
120°       2°W     
150°       1°W     
180°       1°E     
210°       2°E     
240°        3°E 
270°        3°E 
300°        2°E 
330°        1°E     
 
At 0227, you take the following radar ranges and bearings:  
Bartlett Reef Light 359°T at 2.4 miles  
Race Rock Light 083°T at 4.1 miles  
 
What is your 0227 position? 
 

o (A) LAT 41°14.2'N, LONG 72°08.4'W 
o (B) LAT 41°14.3'N, LONG 72°08.5'W 
o (C) LAT 41°14.0'N, LONG 72°08.5'W 
• (D) LAT 41°14.1'N, LONG 72°08.2'W 

If choice D is selected set score to 1. 
  

2. At 0227, you are on course 087°T at 10 knots. What course per standard magnetic compass should 
you steer to make good your true course? 

• (A) 105°psc 
o (B) 099°psc 
o (C) 102°psc 
o (D) 109°psc 

If choice A is selected set score to 1. 
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3. You estimate that you are making 9.3 knots over the ground. At what time will you enter waters 
governed by the COLREGS? 

o (A) 0247 
• (B) 0251 
o (C) 0255 
o (D) 0258 

If choice B is selected set score to 1. 
  

4. At 0337, fog closes in and you anchor under the following radar ranges and bearing.  
South tip of Watch Hill Point 3.0 miles  
East point of Fishers Island 1.4 miles  
Latimer Reef Light 331°T  
 
What is the approximate depth of water at your anchorage? 
 

• (A) 100 feet (30.3 meters) 
o (B) 135 feet (40.9 meters) 
o (C) 120 feet (36.4 meters) 
o (D) 83 feet (25.2 meters) 

If choice A is selected set score to 1. 
  

5. By 1015, visibility has increased to 5.0 miles and you can see Fishers Island. Fishers Island has 
__________. 

• (A) sparsely wooded hills and is fringed with shoals to the south 
o (B) barren, rocky hills with prominent sandy beaches 
o (C) low and sandy beaches with salt ponds and marsh grass 
o (D) sheer cliffs rising from the sea to a high, flat plateau 

If choice A is selected set score to 1. 
  

6. You get underway at 1030. The wind is out of the SSE and you estimate 3° leeway. What course 
should you steer per gyrocompass to make good a desired course of 075°T? 

o (A) 078°pgc 
o (B) 074°pgc 
o (C) 076°pgc 
• (D) 080°pgc 

If choice D is selected set score to 1. 
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7. Shortly after getting underway, your heading is 097° per standard magnetic compass, and you sight 
Stonington Outer Breakwater Light in line with Stonington Inner Breakwater Light bearing 000° per 
gyrocompass. Which statement is TRUE? 

• (A) The gyro error is 2.5°W. 
o (B) The deviation is 2°W. 
o (C) The variation is 2°E. 
o (D) The compass error is 16°W. 

If choice A is selected set score to 1. 
  

8. At 1104, Watch Hill Point Light is in line with Stonington Outer Breakwater Light. The range to the 
south tip of Watch Hill Point is 2.6 miles and the range to the beach is 1.9 miles. You are steering to 
make good 075°T, speed 10.0 knots. At 1110, you change course to head for a position of LAT 
41°05.0'N, LONG 71°50.0'W. What is the true course? 

o (A) 185° 
o (B) 187° 
o (C) 193° 
• (D) 190° 

If choice D is selected set score to 1. 
  

9. At 1110, you increase speed to 12 knots. What is your ETA at the new position? 

o (A) 1157 
• (B) 1215 
o (C) 1219 
o (D) 1208 

If choice B is selected set score to 1. 
  

10. At what time can you expect to cross the 120-foot curve, on your present course and speed? 

o (A) 1122 
o (B) 1117 
o (C) 1125 
• (D) 1114 

If choice D is selected set score to 1. 
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11. At 1345, you depart from a position 1 mile due east of Montauk Point Light and set course for Block 
Island Southeast Light at 9 knots. At 1430 your position is Latitude 41° 06.3' North Longitude 071° 
41.9' West What was the current encountered since 1345? 

o (A) Set 015°, drift 0.5 knot 
o (B) Set 015°, drift 0.7 knot 
o (C) Set 195°, drift 0.7 knot 
• (D) Set 195°, drift 0.5 knot 

If choice D is selected set score to 1. 
  

12. You are encountering heavy weather. What action should you take based on your 1430 fix? 

• (A) Alter course to the right, to pass well clear of Southwest Ledge. 
o (B) Slow to 8.3 knots to compensate for the current. 
o (C) Continue on the same course but increase speed. 
o (D) Continue on the same course at the same speed. 

If choice A is selected set score to 1. 
  

13. At 2100, you set course of 000°T, speed 10 knots from LAT 41°07.0'N, LONG 71°30.0'W. Visibility is 
5.5 n.m. What is the earliest time you can expect to sight Point Judith Light? (Use charted range of 
20 miles as nominal range.) 

o (A) 2123 
• (B) 2114 
o (C) 2131 
o (D) The light is visible at 2100. 

If choice B is selected set score to 1. 
  

14. You estimate the current to be 160°T at 1.2 knots. What should your course and speed be in order to 
make good  a course of 000° T with a speed of advance of 10 knots? 

o (A) 358°T at 09.8 knots 
• (B) 358°T at 11.1 knots 
o (C) 002°T at 09.9 knots 
o (D) 002°T at 11.2 knots 

If choice B is selected set score to 1. 
  

15. If you want to put into Point Judith Harbor of Refuge, what chart should you use? 

o (A) 13205 
o (B) 13217 
• (C) 13219 
o (D) 13209 

If choice C is selected set score to 1. 
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